EARAZROREIERT — 2 N—XBISY —F 2017511828 (K) 13@KH4H

m"fﬁ%Zﬁ 30ALE100AKM ‘ [R#&] B ‘ (] — | & (&) 14000 FHE
[A&4£] 1 7% :1,900,000 @ ~ 23 :760,000 @ 3 3&:475,000  ~ 4 3#%:285,000 @ . 5 7 :190,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. S 4 2 | BEEX 1:30.9 2-1-1 407 — 7 423 | BAFIE (1)
1 4| b—EZT7IN=-X 54.0 — BlIREak
R:b—trTIAE Bib—tiTI—N ) O et 127077 —4
2 3| IX=VF NI # o2 g’gf%iz% 1(/:\3(;? 11-8-6 [40.2| — | 2 | 399 Ei?ééf‘ (K3)
RN—UFNT S BTIILTTRE— 48) | i
BELA . -9 — HIE
3lglg|F—whm—mziL 2 54% L (11.331/.5 10-9-8 | 40.5 6 (4:;59) ﬁgg% (/1vih)
LN=Y774 B:Fz)—-TxLXhF ERT7—L
4l5l5|¥75v T2y TR o2 sﬁs{gﬁ 1(/731[:)2 7-5-4 | 40.6| — 3 (ﬁs) E%%?E (k3#)
R:A-Xx>J4L B:F-T>IUFR B MR
- P ) 10— _ P30
AR ER VP EY o2 s—fgf“ﬁi 1.(311).4 8-10-9 | 40.4 9 | 404 /i‘:ég;ﬂzi (K3)
Rigr—3IyYTL BES R—> 2| Feemas
6 g| 775792 i 2 ;'j‘*grc‘ﬁ (12311/29) 9-11-9 | 40.9| — 4 512 %;Eﬁ% (KF)
R:FEAXLTEL B INITIIUTR 10 e ™ yysg
71812| T o2 | LBR 12 666|422 — | 8 | 450 |EEEE (KH)
R /F¥LLy b BE4FOCF S N
A IRICERESAL S 2 st‘t%ﬁik 1(:33/%4.)0 12-12-11 | 41.2| — | 10 | 431 g;géﬁﬂ (K3)
R:TZRI 48— B /TTT7)— (#2) BHE FA
9 o|¥Tvarivm o2 g%‘ﬁll(l)%%’& (11:333/.5 =43 |42.8| — | 12 | 444 ﬁﬁi_(;;#)
QTR MU= BT RTAYLXA ) | reeEms
sy — & g -3 — =
1017|110 AR ANV —ZT X o2 55%?352 1.(3;1).2 3-3-2 | 43.8 1 (i?;) %\E{Z; (X3#)
RV ARYZYRIR B RH—Ly MRE— HET7— L
= . [—
N BE P - Gy | T T e ) e a s
L:ZXgrT bt —Trp—FK—-FK B:ULI>1—% BEANAHSSE
1207l o | 71— 4 2 5R5-_0’77 =] (12317/24) 5-7-12 | 46.7| — 5 423 ?;iﬁzl (KH#)
R:T59 551K B:R4—TFEL ) m
@ 1—F—@&BIEf
13—7—
2ol =3F= 2,4,(7,10),9,12,5,1,8,6,3,11
30—+— 4,7,10,2,5,12,9,3,6,1,8,11
41—+ — 4,10,2,5,7,(3,12),6, (1,8),11,9
[ RN
B OB 4 3,150 794K 3-4 1,950M e & 3-4 6,670M JEE 3-4-6 18,580
8 B 4 840H 4-6 2,780/ B 4-3 18,320M JEH 4-3-6 157,150
3 180M 3-6 860 B E 3-4 6,720
6 380H B HE 4-3 21,820M

ABICOVWTRDTEEERROODE. TR LIV,



